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i 36,474
&< 3,126
= 7,295
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01 A& HI 67,690 86,235 A 18,545
ORQIZEAIItHI 2t W M (1CH) 60,000
= 24,000
= 10,800
s 25,200
ORolZrAlItHl et X 2 4= (40H) 7,690
2 3,076
< 1,384
[ia 3,230
405 TtHobF S| 13,900 10,900 3,000
= 5,560
= 2,502
e 5,838
01 AL EFFHSHI 13,900 10,900 3,000
SUHE2HII(3U) 2,400
= 960
= 432
i 1,008
ORd=s8d(H&E2)A4 3,000
= 1,200
< 540
s 1,260
OJIH st 2SI AIAY S (1) 8,500
= 3,400
< 1,530
s 3,570
(A== NNE E.g= FNEe S g |yl 72,634 60,712 11,922
101 @124l 30,750 25,925 4,825
M4 IR Z22NSES 30,750 25,925 4,825
OUME/AENY =25 EHII(11SH)
44,6403 #2231 30,445
OdMEE= 30,445,000 x1% 305
201 Yete | 40,384 34,787 5,507
01 At 2t 2l 8,410 4,750 3,660
O e8| 7,150
—MEXY Y MA 5,000& »2700H 1,350
MEXN ZEIE ME 55,000& »200H 1,100
—MEEXSEY A28 FU(SH)
200,000& = 12CH 2,400
—MEdEE 54 2Y 2,300
SA(10mm & ) 100,000& =104 1,000
SA(13mE ) 130,000 =104 1,300
O&=HE HIAZ2RX 24 7,000& 6«30 1,260
02 =224l 31,974 30,037 1,937
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—S8gst=s 5,812,000& = 1CH 5,812
— 858 4,432,000 = 1CH 4,432
—A285E 3,224,000 =1CH 3,224
O&t=Z Aot et | X 22l 1,937
— QoY AEZE 41,8003 *30H A+ 12 1,505
- &3 12,0002 *30f & +12& 432
303 Z& 32 1,500 0 1,500
01 Z4& 3 1,500 0 1,500
OUt=0le =88 M3 1,500
-z 700,000& x1H S ™ 700
-2 500,000 x1JH S ™ 500
— & 300,000 x1H S H 300
SMEIAR A 2 5,000 4,196 804
= 5,000
301 L2 A3 5,000 4,196 804
= 5,000
0B A =R RABHS 5,000 4,196 804
QU LA SAZ222A(2Y) 5,000
= 5,000
s goi s 2l 35,155 163,599 AN 128,444
= 18,187
< 5,091
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A E S LA 35,155 163,599 AN 128,444
= 18,187
= 5,091
s 11,877
101 14 dl 23,352 46,704 N 23,352
= 11,676
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04 JIZHHZ2XREES 23,352 46,704 N 23,352
OWELHME (1Y) 23,352
= 11,676
< 3,503
[ia 8,173
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e 1,238
OJ|EtaoH & (15ha) 2,768
2 1,445
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s 926
LT AE 2el 1,177,937 1,042,717 135,220
= 7,128
Xl 728,562
= 3,500
s 438,747
AT z2e 20,035 17,284 2,751
101 @124l 18,035 17,284 751
04 JI2ZtHZ22EE = 18,035 17,284 751
O AtZZel & EHIDI
44 640 x20H +20 17,856
OdMEEZ 17,856,000& * 1% 179
201 ¢er24| 2,000 2,000
01 At 22l 2,000 2,000
O, S¢z ¥ M=AEXT SHIIIEHY &
23 #2g 2,000
AL 22 937,946 98,196
Xl 656,562
[ia 281,384
101 @124 4] 23,399 7,799
Xl 16,379
[ia 7,020
04 JIZHHZ2Z2XNSE S+ 23,399 7,799
AT 22| A(3Y) 23,399
Xl 16,379
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Xl 90,475
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[ia 18,191
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O AIH(2hE S, 2,.0km) 8,232
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i 2,470
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s 1,668
OY T 2EINE(2.0km) 3,010
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03 A2 2 0HHI 6,604 6,200 404
Oz - (2ddE) 3,136
Xl 2,195
e 941
Ogzdd(2geds) 1,943
Xl 1,360
[ia 583
OYER=NE 959
Xl 672
e 287
ogceE=xs 566
Xl 396
s 170
S ZEHIALY 50,000 0 50,000
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01 Al&H| 50,000 0 50,000
OS24 SHt2 =Y HZ2LSE AT 30,000
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OXAL SHt2 A AKX 10,000
AMNSIHEIASE 14,256 13,983 273
= 7,128
= 7,128
101 21 214| 14,256 13,983 273
= 7,128
= 7,128
04 JIZtHIZ22XNSEES 14,256 13,983 273
O=2ZMENTAH(1E) 14,256
= 7,128
= 7,128
SHREY ALY 144,000 160,000 A 16,000
Xl 72,000
= 72,000
401 Al HI L 2 0HHI 144,000 160,000 A 16,000
Xl 72,000
= 72,000
01 Al&H| 139,710 155,232 N 15,522
OMetA SAZ2 Y| (2km) 139,710
N 69,855
= 69,855
02 2eldl 3,254 3,616 A\ 362
OMEZRA S A2 FH|(2km) 3,254
Xl 1,627
= 1,627
03 Al&E 201 Y| 1,036 1,152 A 116
OMetA SAZFHI(0.72%) 1,036
N 518
= 518
=2 Xd 29 11,700 11,700 0
& 3,500
= 8,200
101 Q24| 6,700 6,700 0
= 2,000
= 4,700
04 JI2ZtHIZ22NEE S 6,700 6,700 0
SOolxMEE=2201(19) 6,700
= 2,000
= 4,700
201 et 9| 5,000 5,000 0
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OROt=ME2LHI(1HL) 5,000
S 1,500
s 3,500
AE 2 S 2 65,120 77,100 A 11,980
< 17,908
s 47,212
5222 (ETAY) 64,020 76,000 A 11,980
= 17,908
s 46,112
401 AIEHIZ 28I 64,020 ,000 A 11,980
= 17,908
[ia 46,112
01 A& Hl 63,631 ,611 A 11,980
OEs4+3Hl(9Ma) 35,631
< 10,691
e 24,940
Ot Es2Y B AF (1014) 21,000
< 5,000
[ia 16,000
ooruie Xl 2 WH(7H) 7,000
= 2,100
e 4,900
03 A& S THHI 389 389 0
OE5=3Hl(1.08%) 389
< 17
s 272
MEES2E 1,100 , 100 0
301 et A Z 1,100 , 100 0
MIEE4d3 1,100 , 100 0
Ot & SHHEAX 41 Loz
50,000& »10A 500
O&td A & el X=Xt Z&3
30,000 x20H 600
S =X 2l A 939,197 ,070 N 279,873
= 7,128
Xl 340,000
[ia 592,069
=ES23 At 2tel 737,936 856 A 324,920
= 7,128
Xl 340,000
[ 390,808
S EZJ ALY 105,759 ,335 2,424
101 1244 dl 34,267 ,335 10,932
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04 JI2ZtH 22 XNEE 34,267 23,335 10,932
OALHZEA ALHE 28 AT & 22
44 6403 x6H x5 x4 3| 5,357
OFTQT2H 22X AAEZZ(21012)
44,6403 *8H 10 x33] 10,714
OF&z Ji2std L A3 ZHID|
44,6403 100G 10 x43] 17,856
O¢tteEE = 33,927,000* 1% 340
201 L2 Y| 2,000 2,000 0
02 332494l 2,000 2,000 0
OA & &Hl XY 2,000
— W=7 d=Hl 80,000& x100H 800
— &CI 2D s X 22yl 200,000& = 1CH 200
—JIAHE SX &bl 100, 000& = 10CH 1,000
206 M = Hl 58,000 58,000 0
01 M= bl 58,000 58,000 0
OZEZLSIAIY NP (2H,EH S) 2,000
OHEYE Z2R272¢ 350& *40,0002 *43] 56,000
401 Al HI L 2 0HHI 11,492 20,000 A 8,508
01 A& HI 11,492 20,000 A 8,508
O REI222L =34 & 22
894 & 12,854 m’ 11,492
otz 22| 48,907 36,876 12,031
101 @121l 4,876 4,876 0
04 JI2ZtH 22 XNHEE =+ 4,876 4,876 0
OJl24 AE2el (38 A)
60,3303 *4H x 10 x23] 4,827
OMEE 2 4,827 ,000& *1% 49
206 M = Hl 2,000 2,000 0
01 X2t 2,000 2,000 0
Oz gais <M ¥ g2 2,000
401 Al Bl 20 HI 42,031 30,000 12,031
01 A& HI 42,031 30,000 12,031
Owsz J24 ¢ CHSI1(B20 Olat)
56,650& *250F 14,163
OUAXIF Jt2 =8UsS21(811012H)
45,750& %200 9,150
OANQA WSHM +=8CSI1(B200l5})
56,650& * 100+ 5,665
Oll24 MSEHAMNLAML (E2SHH)
8943 x5m" x2 920 13,053
TAEXZLEAY 360,000 700,000 340,000
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M ZFA =2l
S REIAS A2 CERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Xl 180,000
s 180,000
401 Al Bl 28I 360,000 700,000 A 340,000
Xl 180,000
i 180,000
01 A& HI 357,860 694,960 A 337,100
OJt24 E=4 (5km) 297,860
Xl 147,860
s 150,000
Oga= ZH(1A) 60,000
X 30,000
i 30,000
03 Al& =TI 2,140 5,040 A 2,900
ON2=+ =4 2,140
Xl 2,140
LIf2dHLdX2H 200,000 200,000 0
Xl 160,000
[ia 40,000
401 AIEHIZ 28I 200,000 200,000 0
Xl 160,000
s 40,000
1 A&l 198,570 198,560 10
ousesd =4 198,570
Xl 158,570
i 40,000
03 A& =2 THHI 1,430 1,440 A 10
oussd x4 1,430
Xl 1,430
LIR2d#=2d 9,014 8,642 372
101 @124l 9,014 8,642 372
M4 JI2ZHZEXNSES 9,014 8,642 372
oussgd el 44,6403 1 200 8,928
OtTHERE Z 8,556,000& 1% 86
MEMEIAE R0 14,256 0 14,256
= 7,128
e 7,128
101 @124 dl 14,256 0 14,256
= 7,128
e 7,128
4 JI2ZtHZE2EXREES 14,256 0 14,256
O A=X2e2(19) 14,256
= 7,128
s 7,128
SEEdL e A Y 201,261 156,214 45,047
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SH: BA=TDY
HH: A=K TN
el ZREMUBAANY (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZANZSE S5 HMIANE=Z
80,000 *5&*12& 4,800
OZANZSE 2= dot=k 2=
50,000& *5=*12& 3,000
OZANZSE 234 =KXl
60,000& *5=*12& 3,600
O3z g BEga 600,000 = 1CH 600
O3&2el Xl 4,357 ,000& = 1CH 4,357
Oul=Jl § sX2el 300, 000& 43 1,200
O0E0lI=0lAE & HMEAE B2 1,500
202 O4dl 600 900 A 300
01 = LHA YI 600 900 A 300
O=d=x4 & 22| EtAIZ #xI0tA
60,0003 x2H 5 600
206 M= Hl 18,000 6,500 11,500
01 =8l 18,000 6,500 11,500
OgdisZHE s47 10,000& x1,000= Xl 10,000
OE&lHl, dlg=d 10,000& *800L 8,000
401 AIEHIZ 28I 31,000 38,000 A7,000
01 A& Hl 31,000 38,000 A7,000
O 23324 15,000
OZANSE RAE= 1,000, 000& 16 2~ 16,000
S IR 2t 61,354 0 61,354
101 14l 25,314 0 25,314
04 JI2ZtHZ22 a2+ 25,314 0 25,314
O3&2e 44,6403 1«3 »52= 6,964
[AU FEUH L +23Y
60,3303« 10«10 33 18,099
OdMEE= 25,063,000 x1% 251
201 L2l 16,040 0 16,040
01 At 22l 2,700 0 2,700
O32U s 225 2¢
20,0003 «3=*12& 720
O3d&el =47 & JHl Xz
495,000& *43] 1,980
02 2324l 13,340 0 13,340
O32U B=stza HIANS=(38)
80,000 «3= + 122 2,880
OZ23U Jit2s dIIe3 500,000& »12& 6,000
OZ3U 2= o=k 23
50,000 «3=* 12 1,800
OZ3U B4 =& KX
60,0003 «3=s*12E 2,160
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SH: BA=TDY
M A=K 22 ALY
el ZREMUBAANY (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
SEUW HEl0l=0lAIE &L MSAE B2 500
401 Al HI L E0HHI 20,000 0 20,000
01 Al&H| 20,000 0 20,000
OZ22 U JIsx==3s 014 20,000
HESHAY (A=) 178,657 186,705 N 8,048
olea 2AH| 96,093 99,409 N3,316
oIt 96,093 99,409 N3,316
101 @21 | 96,093 95,209 884
01 2 92,425 91,727 698
OAZIAZR LY HHZ(21H) 23,371
— 52 11,5912 «1H «10A| 2t*x 12 1,391
— 6= 9,886 x11&H x10A| 2t*x12& 13,050
—-72 8,930 *5H x10A| 2t*x 12 5,358
— 8= 8,017 x1H x10A| 2t x12& 963
- 92 7,247& «3H x10A| 2t 12 2,609
OxUI2PE 9, 1343 x21H *30A| 2t*x12& 69,054
02 JIEH& &2 %= 3,668 3,482 186
OF A (sHF2HLEH) 3,668
—ANRARRLY(HUR)
7,641& «1H «10A| 2t*x 12 917
— X222 E 7,6413 x1H *x30A 2H*12E 2,751
|2 A b 82,564 87,296 N4 732
Jl2 &4l 82,564 87,296 N4 732
201 et 46,024 48,066 AN2,042
01 AP 2t 2] H| 44 276 45,990 N1,714
OYBty2Hl EHAH A 24,116
O=2H SHHA 20,160
02 2324 1,748 2,076 A 328
OAMNR A w8l Az
1,310 %24 =4 A 2E%100 1,048
ONFNINSK BEEE 700,000 = 1CH 700
202 o4 H| 32,340 36,430 A4,090
01 2L I 32,340 36,430 A4 ,090
O=2Wod (L) 18,480
O=2UWod (22) 13,860
203 P2 E= Y| 4,200 0 4,200
04 FEASHEYIFFEH| 4,200 0 4,200
ORI ELEF=8H| 350,000 x12& 4,200
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